
SAP ABAP table M_SHAROD {Generated Table for View}

M_SHAROD

MANDT [CLNT (3)]

ARRANO [CHAR (13)]

VERSION [NUMC (4)]

OBJNR [CHAR (22)]

RERF [CHAR (12)]

DERF [DATS (8)]

TERF [TIMS (6)]

REHER [CHAR (10)]

RBEAR [CHAR (12)]

DBEAR [DATS (8)]

TBEAR [TIMS (6)]

RBHER [CHAR (10)]

JLOESCH [CHAR (1)]

BUKRS [CHAR (4)]

SWENR [CHAR (8)]

SGENR [CHAR (8)]

SGEBT [CHAR (2)]

SRAUMEXT [CHAR (13)]

SSTOCKW [NUMC (3)]

BERGRP [CHAR (40)]

DGUELBIS [DATS (8)]

DGUELAB [DATS (8)]

XRBEZ [CHAR (30)]

SRAART [NUMC (2)]

FLOT [NUMC (4)]

DRENOV [DATS (8)]

XDOORBEZ [CHAR (15)]

DTRAGFKT [QUAN (11)]

TFEINHT [UNIT (3)]

DRAUMHOE [QUAN (11)]

RHEINHT [UNIT (3)]

UMBRAUM [QUAN (11)]

REINHT [UNIT (3)]

RAAA [NUMC (10)]

LAND1 [CHAR (3)]

PSTLZ [CHAR (10)]

ORT01 [CHAR (35)]

STRAS [CHAR (35)]

REGIO [CHAR (3)]

ORT01_MC [CHAR (16)]

STRAS_MC [CHAR (16)]

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 M_SHAROD-OBJNR = ONR00-OBJNR 

0..N

0..N

T000

MANDT [CLNT (3)]

 M_SHAROD-MANDT = T000-MANDT 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 M_SHAROD-BUKRS = T001-BUKRS 
0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 M_SHAROD-LAND1 = T005-LAND1 
1

1

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 M_SHAROD-REGIO = T005S-BLAND 
1

1
T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 M_SHAROD-REINHT = T006-MSEHI 

0..N
0..N  M_SHAROD-RHEINHT = T006-MSEHI 

0..N

0..N  M_SHAROD-TFEINHT = T006-MSEHI 
0..N

0..N TIG01AR

MANDT [CLNT (3)]

ARFLAASCOP [NUMC (1)]

ARFLAA [NUMC (10)]

 M_SHAROD-RAAA = TIG01AR-ARFLAA 

0..N

{0,1}

TIG03AR

MANDT [CLNT (3)]

FLOT [NUMC (4)]

 M_SHAROD-FLOT = TIG03AR-FLOT 

0..N

0..N

TIV09

MANDT [CLNT (3)]

SRAART [NUMC (2)]

 M_SHAROD-SRAART = TIV09-SRAART 

0..N

1

TIV12

MANDT [CLNT (3)]

SGEBT [CHAR (2)]

 M_SHAROD-SGEBT = TIV12-SGEBT 

0..N

0..N

TIV37

MANDT [CLNT (3)]

SSTOCKW [NUMC (3)]

 M_SHAROD-SSTOCKW = TIV37-SSTOCKW 

0..N

0..N

VIOB01

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SWENR [CHAR (8)]

 M_SHAROD-SWENR = VIOB01-SWENR 

0..N

0..N

VIOB03

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SWENR [CHAR (8)]

SGENR [CHAR (8)]

 M_SHAROD-SGENR = VIOB03-SGENR 

0..N

0..N


